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Skills Practice 4-4 # 1,2, complete the 2-column proofs below for # 3,4

3.Statements






Reasons
1. Seg. PR is congruent to seg. DE
2. Seg. PT is congruent to seg. DF
3. Angle R is congruent to angle E
4. Angle T is congruent to angle F
5. Angle P is congruent to angle D
6. ∆PRT is congruent to ∆DEF
4. Statements





Reasons
1. Seg. AB is congruent to seg. CD
2.
D is the midpoint of seg. AC
3.
Seg. AD is congruent to seg. DC
4.
Segment BD is congruent to seg. BD
5.
∆ABD is congruent to ∆CBD
